A = 0O & AF S F Al A
20128 = =04 LBESIH JIEIS 8 A SAIZ2elu ~ SAl2te|
A A2
M CAl2e
&l: oMot HEE E2I|ls M (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
S A2t 2,792,778 1,925,981 866,797
= 100,000
Al 105,000
- 2,587,778
S AlZel 74,535 61,141 13,3%
oMot AEE E20|Is M 74,535 61,141 13,3%
T2 ¥ JI2FY| 65,442 53,935 11,507
201 Et2Ad| 16,992 20,835 A3,843
01 AtR2tel 3,491 6,724 N3,233
OJtE2&Hl 23 HII=Xe 180,000& «8= 1,440
Osgds=g 293,000& +7E X 2,051
02 23294l 13,501 14,111 A610
OXsi SZMERES 512
oS SXHUE) 201,000 »1CH*23] 402
oS SIHAEH) 55,000& = 1CH»22] 110
OXtS XAl 33,0003 =1CH 33
Osx=EEz 996
o2AHUE) 640,000 *1CH 640
o2 (L E) 356,000 *1CH 356
OJl=23Hl & RFU ¥ FHISXH
4,000,000& *2CH 8,000
Ozl sUHds AFER
80,000& x1CH*12& 960
OS2 A4 Tldhitha SH3 b
3,000,000& 13 3,000
203 R =2 3,000 2,000 1,000
03 A=A H P =] 3,000 2,000 1,000
O Al2te] AIZEZ=X 3,000,000& 3,000
206 M= Hl 11,450 8,500 2,950
01 =8l 11,450 8,500 2,950
OXMeIZgu 2t E28+8 M7 11,450
S AHE 5,000 «60 XL CH 300
SR 55,000& »10m* 550
o0tAZ 13,000& 7001 CH 9,100
<JIEt EMM(BAAS & 58)
1,500,000& 1,500
305 =S 2,000 2,000 0
01 &= S 2,000 2,000 0
OEZANE= & XA B4 2,000,000& 2,000
401 A& HIZ 20 32,000 20,000 12,000
01 Al€Hl 32,000 20,000 12,000




SM SAZe 0
I Al

ool otdotD ES E20|s M (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
O NE=E 5 2+ & &Edl 20,000,000 20,000
OBIFFZE =220 2eldl 1,000,000 «12& 12,000
HAEHEZINE 22 1,123 1,094 29
201 Bt2 A | 1,123 1,094 29
02 2324l 1,123 1,094 29
oXMIIe3 35,0003 123 420
O&sx 4 24,0003 *13] 24
OodHes dz 1,358& *500L 679
2 LaAXE NE B 7,970 6,112 1,858
22| 3,430 3,572 A142
AR 2telHl 3,430 3,572 A142
OXY= (s s5) 110,000& «5&H 550
OLHA S Y - oF2Ers 22
200,000& x12& 2,400
OoEXIZ 28 SIIZX 30,0003 ~2CH+83] 480
206 M=l 540 540 0
01 MHZ 4l 540 540 0
OLH4EXZE 5Tl 540,000 540
301 LEE A= 4,000 2,000 2,000
12 JIEt243 4,000 2,000 2,000
OEzE+d ZEEXNR JIEE
2,000,000& =2H 4,000
THAIE 2tel 382,620 348,160 34,460
/Rl 330,450 308,488 21,962
25 ¥ Bors &2 330,450 308,488 21,962
st g y) 280,991 262,493 18,498
02 E==2ZHl 280,991 262,493 18,498
OXstEE &JI23 13,016
oJlEka 5,400 9. 5KW+2JH A+ 12& 1,232
oMAHARF  70.8+9.5KW*24h*2JH A +365 11,784
OJtz2s dlle=s 124,154
=JIE2ea 5,000 *3KWx 11500 2«12 21,073
oNMAHRS
69.5% 1,806 S *0.25KW*0h+3652 103,081
O=ets Hlle=s 4,000,000& = 12& 48,000
OR¥uUXE Z9E MIIR= 4,510
P L= 5,090& x17KW+ 12& 1,039
oMaARE  69.52*x165*0.95KW*Sh*365 3,471
OBIFFZZE Z2xd MIIRZ 14,931
=J223 5,090 x70KW+ 122 4,276




A TAl2el
A TAl OF2EZHAIE 22|
@ OftZ2NA (ctel &
g Y Golre g . SJEL-S I
SA-E O (3H) - MBAY - B2 0l &2 e HDS2
o= 69 .53 *70KW*6h*365 10,655
OHoEE FNEXYH JIR= 2,605
ollE2ea 5,090 *9KWx12& 550
oMuaERZE 69. 53 xGKWxOh*365! 2,055
O=sg84& 3 dMIIe3 4,342
oJlEgea 5,0902 *5KW*3 I A~ = 123 917
oNMER= 69.5% * 15KW*Qh*365 3,425
O=MAIE AlEEZ MEOIX &2 1,159
ollE2e=a 5,090 * TKWx4H A+ 12& 245
oMuaERZE 69. 53 x4KWx9h*365! 914
OUFZ(IHMAE)AEOIX M3 2,605
oJlE2ea 5,0903 *3KW*3 I A~ =12 550
oclEAHRF 69.53 *9KWx9h=365! 2,055
O3 HELE= AKX RSB 869
oll2e3a 5,090 *3KWx12& 184
oMEHRI 69.5& *3KW*9n*365! 685
O=n SF0IAEXT ML= 1,737
oJlE2ea 5,0902 *3KW*2 I A~ =12 367
oclEAHRF 69.5& *6KW*9h=365! 1,370
o= HX3| &3 869
oll2e3 5,090 & x3KW=12& 184
oMEHRI 69.5& *3KW*9n*365! 685
OESUZEH HHUAIEE HIIRS 291
oJllE2e=a 5,090& * KW= 12& 62
oclEAHRF 69.5& » IKWxOh=365! 229
OgxFs FEAH AHWEXE HIRS 1,448
oll2e3 5,090 & xBKW=12& 306
ocNMEHR=E 69.5& *5KW*9n*365! 1,142
O=s&= 2M==2 A4¥XE=E &3 291
oJllE2e=a 5,090& = KW= 12& 62
oclMEHRF 69.5& * IKWx9h=365! 229
O SE=:IUE S43IEZY HIIeB 580
oll2e3 5,090 *2KWx 122 123
oclNMEEHR=a 69.5& *2KW*9n*365! 457
o5z 2223 2 g2t I3 1,737
oJllE2ea 5,090& =6KWx12& 367
oclMEHRI 69.5& *6KW*9h*365! 1,370
O&EZ =FANE M3 13,054
ollE2e3 5,400 *8KW*3H A~ *10& 1,296
o= 70.83 *24KW*10h*300 5,098
oJllE2e=a 5,400& *25KW* 1 A~ =10 1,350
oclEHRF 70.8& *25KW*10h*300! 5,310

_3_




A TAlZelnt
M CAl OFIEEAIE 2t

el Or2tE 200 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OLxctAY &I &IIes 1,967
oJlEks 5,400 »20kw* 11 1,188
oclzEER=s 70.83%1,000kwx11& 779
O2xctAE 5231 |A&2 L 2,570
o8y =2 220,000& 11 2,420
oHIIEAMN ==& 150,000& 13l 150
OXNsSi SZMEEZES 160,000& =104 =22 320
O1DIATEIX B8 = 270,000& = 1CH 270
OZ&2xEAE g2l 35,450
osu XY 1,000, 0003 *2JH A 2,000
oltelg el 22X 80,000, 000& 3% 2,400
od=z FaAXY 360,000,000 *3% 10,800
oBIFFZE d2AXY 675,000,000 *3% 20,250
Og=J| |zl 900, 000& *4LCH 6% 216
OXJtACI2IRH U E) S XIHI 4,000,000 *1CH 4,000
206 X =4l 49,459 45,995 3,464
01 =4 49,459 45,995 3,464
onzs 2+=XHM 27,723
cAUESEX
17,5002 x 1,545 +{ (3652 x12A1 2t) /14,000 8,459
A2t}
ocUHESeHEDI 19,500 * 1,545 *10% 3,013
cUANEHE
16,500%*219%*{(365%*12/\|?_*)/12,002/:{L 1,319
oHEHIE AT 21,5003 x2195 *10% 471
oIty #HX
10,500 *42S * (3652 x12A1 2+) /10,000 A1 2+ 194
oArZE S+ 75,0002 *1,806S *3% 4,064
o MAEE ] 400,000 * 1154 %7% 3,220
ocBExg MM 2,840& %35, 860m*5% 5,093
o otEI| AHH 7,500& #50x12& 450
=Jt2J| 20 10,0003 *3H+12& 360
odd ==& 45,0003 «2H 128 1,080
OXotEE: ExXtH 2,095
ogddo 1,610& 104122 194
ocg&SeED 19,800 *8IH»12E 1,901
Oges 2= 19,641
cUALIESH D
12,000& x2, 1675 +{ (3652 «12A1 2+) /14,000 8,136
N2
olLIESH#IZE otd )|
15,000& *2, 1675 *10% 3,251




A TAlZelnt
M CAl OFIEEAIE 2t

ol OFZ BN & (eel: &
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
osaE SI|T 21,9409 +2, 1675 +3% 1,427
oXNsSEZ| 45,0002 52, 1675 +7% 6,827
IS HOIS #E U H2 Y| 52,170 39,672 12,498
RS, 2ot Iyl 52,170 39,672 12,498
401 Al HI L2 OHY] 52,170 39,672 12,498
01 Al&H 52,170 39,672 12,498
ORS AR &X 350,0009! *30S 10,500
OL% JH2E= A 500,0009! 205 10,000
O=%, +8 H2 Hul  5,000,0008 =2H A 10,000
O-SHOS QA4 200,000 #2, 1675 5% 21,670
=MEA ES 835,561 533,972 301,589
= 100,000
Al 100,000
635,561
=X eE o 22 835,561 533,972 301,589
3 100,000
Al 100,000
7 2 635,561
otRste 2 HEze 227,581 171,794 55,787
101 21248 103,346 81,740 21,606
04 JIAR2ERNSES 103,346 81,740 21,606
o242l ARY(RSEUYSY T 18,289
oS 53, 1602 +7% x4 +53] 7,443
o Al 53, 1602 7% x22 #23| 1,489
oXFZ2 H| 53, 1602 +82 72 2,977
oA 53, 1602 62 +22 103 6,380
Oster=xze ARY(RIEUY+Y ZE) 74,425
oS 53,1602 *10% »122 43| 25,517
o Al 53, 1602 <82 +82 *4 3| 13,609
oY 53,1602 * 14 *122 +33] 26,793
o= 53, 1602 +8% «52 *43| 8,506
OHEIZR URY(RSEYSY ZE) 10,632
o42 o AESHH 53,1602 <22 +100 10,632
201 LBre | 21,290 22,100 A810
01 AFR2t2IHI 2,150 1,300 850
OZZRIH EU 1,300,0002 1% 1,300
O«2HIIE 22 EX YXNE(HRE)
8500002 *17H 2 850
02 22| 19,140 20,800 A 1,660
OHH A&ZE KXz 300, 0002 «250H 7,500
O3t AES RXI2E 100, 000! *32JH 2 3,200




SN CAIRRID
HE: =MCA X4

&2 =0 &5 2 22 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OZEY S| 2l 1,000,000& * 170 £ 1,000
Osg 22| 2 58 300, 0003 +6CH 1,800
O&H S & -3t=E23 25,0003 +144x12& 4,200
OB+E M2 H & 514523 (H&)
80,000& »12& 960
OZHAE HsS=AME HIIRS
40,0002 x12& 480
206 M= 4l 7,945 6,954 991
01 MHZ 4l 7,945 6,954 991
Otz s2tel 4,300
oz 10,000& »30& 300
oRJIIEHZ 450% «1,600kg 720
oRJEH= 500& *1,000kg 500
oXlF==+Y 13,000& 602 780
oME 10,000& »200= 2,000
Ostet=X12el 2,645
oz 10,000& »30H 300
oRJIE HZ 450% «1,500kg 675
ocESI=(A) 4,600% 1412002 920
oot EMHQIE 2,500& 3004 750
OXHEF & JIEFK 10,000& = 100& 1,000
401 Al HIZ 2CHYI 93,100 61,000 32,100
01 A& HI 93,100 61,000 32,100
OJt2= 24 700,000& 202 14,000
OJt2=% & (B20cmOl &) 100,000 200 20,000
OJt2= Al ZH| 300,000 *47H £ 14,100
Ozt - =X == E4] 20,000& »800= 16,000
O=,83%A & ==&l 100, 000& +50= 5,000
OgZste d| 24,000,000 * 190 2 24,000
405 KtatE S| 1,900 0 1,900
01 ML SZHSHI 1,900 0 1,900
OUXIEotet =< 400,000 * 14 400
Oul=Jl g 500, 0003 * 104 500
Oddls ¢ 1,000,000 *1H 1,000
Z37Y 2 YOF 29 362,669 116,992 245,677
101 21 24H| 24,667 19,510 5,157
04 JIZtH22XHSE+ 24,667 19,510 5,157
OxstAllY 2el gRd(ReSsesg XLF) 20,201
ox=gtAM 53,1603 x8H 7L +53] 14,885
o ESIAIAl 2tel 53,160 x5 H 202! 5,316
OLRE 2o ARY(RSFLE 8 4,466




L SAzE D
D mMT Al EA

N EE - SI(3) - HEAY - BES sk e 2
oHMZ=, =& cls
53, 1603 7 »3L «43] 4,466
206 =l 72,002 69,682 2,320
01 =4l 72,002 69,682 2,320
O=xst - E &2 5,182
ox323 200 *12,500= 2,500
oRJIEH= 500& *1,000kg 500
SR 10,000& =100 1,000
AP HME 7,000 1002 700
oHIEXZE 25,000& 104+ Xt 250
oHld 64,0003 x2E 128
oE2EM & 26,0003 x4E 104
O=x=3s+¢ 28,000
o5, S 7003 x10,000=2+23] 14,000
olis, HE 1,000& +7,0002 *23] 14,000
OZTAE 20,420
ocBHAZE 4 /) 13,000& *1,4400H 18,720
oMLl Z (M 170,000& 102 1,700
OZU=R(2E) 2,000& *2,3002+43| 18,400
401 A& HIZ 20| 266,000 27,800 238,200
01 Al&H] 266,000 27,800 238,200
OmHJIg(+==, =FS)HMeldl 80,000%«200& 16,000
O=22st24 Xl 250,000
oSt MA & 1,000, 000& 2504 250,000
=Xl xtEztel 13,511 13,386 125
201 Yer2gy| 13,511 13,386 125
02 2324l 13,511 13,386 125
OXsSXHAl 48,7503 +20H 98
Oltsxt BE&= 356,000& +2CH 712
O0lEx E8= 81,000& = 1CH 81
(OPNR=PNECEED) POl == 65,000 »2CH »22] 260
Ozt x S Al 6,000, 000& *2CH 12,000
OO0IEX S Al 360, 000 *1CH 360
=2 AEIIZH 22 31,800 31,800 0
201 YEr2gy| 11,000 11,000 0
02 2324l 11,000 11,000 0
O=ZAIZS AN&ERX 22l 200,000 x257H 2 5,000
Ox=3ANE &5 23 1,000, 000& *6H 2~ 6,000
206 TH 2 H| 20,800 20,800 0
01 =4l 20,800 20,800 0




M ZAI2el
MM =SMTA XA

el =0 #5 2 2 (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OJt2stzE ¥ steAHE =31
400% %13,000=*43] 20,800
KNXH SAl= =4 200,000 200,000 0
= 100,000
Al 100,000
401 A& HIZ 20| 200,000 200,000 0
= 100,000
Al 100,000
01 Al£Hl 200,000 200,000 0
OEAMs =4 200,000,000 * 174 £ 200,000
& 100,000
Al 100,000
PNESR-LES) 228,545 67,845 160,700
Al 5,000
- 223,545
gt NESAE 2 228,545 67,845 160,700
Al 5,000
- 223,545
NEALR =& 200,350 23,319 177,031
201 ZEt2FH| 7,850 8,130 A 280
01 AH2 221 H| 2,142 2,142 0
OXHFA U pALT 8F7Y 2,142
ocZ2H EX 40,000& x4 = 160
ocE2H 93 800, 000& 1N E 800
oDglH & 175,000 «2CH*2H 700
ofgly 23 75,0003 20 «2NI E 300
=QIEI| ABF 182,000& 182
02 2244 5,708 5,988 A 280
OXNEEH & & SXNE+ 400,000& 400
OSt=2EXNEE ANAY SWRXE=+ 5,308
oGIS A& 261,800& «12& 3,142
SRS Y 81,400& 123 977
cClZEE 37,4003 123 449
©GSE 30,800& 123 370
< GeoDT 30,800& *12& 370
401 Al E 6L 20| 30,000 2,189 27,811
01 A& HI 30,000 2,189 27,811
OXMEIIE 4FHEX Xl 30,000,000& 14 30,000
405 AHotFE S HI 162,500 13,000 149,500
01 ML =S FHSH 162,500 13,000 149,500
O s=EXN3= M
162,500, 000& * 1CH 162,500




A A2
M TR
Chel AlEts NHSE 2 (el a2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
CE2Y FAAG(KA) 18,195 14,526 3,669
201 get2Ad| 1,580 1,580 0
01 A2 2t 2ldl 280 280 0
OS2HEASIAS BALY
70,000 x»4H +13] 280
02 2324l 1,300 1,300 0
O&E=2HH Eolitia SH =t 1,300,000& 1,300
401 A& HIZ 2 CHYI 16,615 9,506 7,109
01 A& HI 16,615 9,506 7,109
OE2YFAA4E HELEX 8,000
o2 400, 000& 204 8,000
OE2HFAANE RAES 8,615
ocA=HSE W 10,000 +8,71671+0.03 2,615
ocZHE Wi 400, 000& 50094 *0.03 6,000
CE2Y FAMH(EZX) 10,000 29,000 219,000
Al 5,000
- 5,000
201 Bt A | 10,000 29,000 219,000
Al 5,000
- 5,000
01 AR 2teld| 10,000 18,250 A8,250
OxMTte &E29 oHHE HMZE 12,5002 800 10,000
Al 5,000
- 5,000
HE2IZH (S AI22l) 1,271,517 914,863 356,654
o2& H| 1,188,864 825,388 363,476
=sX2eld olE2Ed| 75,070 69,722 5,348
101 21 244| 75,070 69,722 5,348
03 RIAHAZZAE 75,070 69,722 5,348
O=sXzel# 75,070
=JlE2s 1,110,980& »2& « 123 26,664
o0z 17,160
Y 1,715,980& »2H »50%*43] 6,864
d2g 1,715,980& x2H »25%+22] 1,716
M & e 1,715,980& 2 & «50%*53] 8,580
odMd 5,400
CFESY (SRR 40,0002 x1H« 128 480
CHESE(RE - TH)
20,000& x1H+128 240
Ex=gRsE 125,000 «2H <128 3,000
RS gea S o Eug =y 70,000 x2H 128 1,680




SN

By #FHSAAL(SABEID)
EHel: el eyl (el a2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
o=2 =Mt 13,959
Houg At 160, 0002 *2% * 122 3,840
S EES] 110, 0002 %22 * 122 2,640
nELxY 140, 00021 %2 * 122 3,360
YHEIM 1,715,980 «2% x60%+23] 4,119
cExD2R4Y 7,893
NEEEERS
12,3852 7 Al 24+ 128 2 2,081
EUTDLY 74,2802 128 2 3.566
SPEEESIENS
8,257 xBAI 24172 522 2,246
oAbl 100, 0002 +224* 128 2,400
S EIEINE 50,0008 +22 122 1,200
oIl =) 304
xol= (5, 5%) 100, 000! %22 200
o5t 40,0002 *2 80
EEETEELY 40,0002 *2 80
2% 7,0008! %22 14
- ®3t 10,0008 +2% 20
TEE4 sy 1,113,794 755,666 358,128
101 0124 bl 1,113,794 755,666 358,128
03 RIIHA2EN R4 1,113,794 755,666 358,128
OEzE4+# 1,113,794
oll=3 1,317,85021* 18 122 284,656
03 231,898
LAY 415,336,000 /128 50%+43] 69,223
H24Y 415,336,002 / 122 50423 34,612
HIZEHRibl 415,336,002 / 122 %50%+53] 86,529
HYEEIH| 415,336,008 / 122 +60%+23] 41,534
oTULY 52,920
IS (HRX) 40,0002 +15%+128 7,200
OIEAS(RR - IH)
20,0002 152 <122 3,600
ssgesg 125,000 + 1824+ 128 27,000
SRR 70,0002 «182 <12 15, 120
o=2 =) 20,960
HougAt| 160, 000! * 18 * 122 34,560
A E | 110, 0002+ 18% * 122 23,760
RS 140, 0002+ 18% * 122 30,240
/A H| 100, 000! » 18 » 128 21,600
- HIZ A 50,0002 182 12 10,800
cED2R4Y 9,419

_‘]O_




A ZTAIZel
SIPS|

M HHE2IZHI(ZAI2eD)
& QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Aol 2R g
13,7582 %10l 2H+ 182 12 29,718
OFIDR4E 45862 *4AI 2182 128 3,963
 EYRRLY 82,5482 x202 » 18 29,718
ARRBBRILY
73,3763 x125%*202 « 18 33,020
oXtHSHIEX Y 7,775
S5t 51,990& 43| *4H 832
nsstd 433,880& x43|*4H 6,943
oty &xtg XA 300,000& » 12| x3H 900
o Gt AL 30,000 x18H =13 540
ocLzxXEMEUE 20,000 x18H »13] 360
oZd EXZ 157,000, 000& 23X 314,000
oIl =l 3,366
A =(5 57) 100,000& 18 1,800
OHMSH( XY 3t 40,0002 18 720
27X 7,000& 18 126
i 40,000 x 18 720
Jl23| 82,653 89,475 26,822
SfAMII=ZH 82,653 89,475 26,822
201 Et2Ad| 12,213 13,275 A 1,062
01 AtR2tel 12,213 13,275 A 1,062
ORMEE Jl==s&Hl 279,000& »23¥ 6,417
OJl2ged =2l 7,000 «341x23F « 128 5,79
202 44| 66,240 72,000 25,760
01 =2 A bl 66,240 72,000 A5,760
OJl=ge==a 04l 240,000 «23H « 128 66,240
203 J =&l 4,200 4,200 0
04 RFAN2EHRFEH 4,200 4,200 0
ORMEZE 2¢ 350,000 «12& 4,200

_11_




